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#1 CALCULUS – HUSTLE


National � EMBED Equation.DSMT4  ��� 2014








For � EMBED Equation.DSMT4  ��� and � EMBED Equation.DSMT4  ���, one-to-one functions with domains of all real numbers, � EMBED Equation.DSMT4  ��� for


 all real values of � EMBED Equation.DSMT4  ���.  � EMBED Equation.DSMT4  ���.  


Give the value of � EMBED Equation.DSMT4  ���.























Answer: ________________________





Round   1    2    3     4      5
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For � EMBED Equation.DSMT4  ��� and � EMBED Equation.DSMT4  ���, one-to-one functions with domains of all real numbers, � EMBED Equation.DSMT4  ��� for


 all real values of � EMBED Equation.DSMT4  ���.  � EMBED Equation.DSMT4  ���.  


Give the value of � EMBED Equation.DSMT4  ���.























Answer: ________________________





Round   1    2    3     4      5
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For � EMBED Equation.DSMT4  ��� and � EMBED Equation.DSMT4  ���, one-to-one functions with domains of all real numbers, � EMBED Equation.DSMT4  ��� for


 all real values of � EMBED Equation.DSMT4  ���.  � EMBED Equation.DSMT4  ���.  


Give the value of � EMBED Equation.DSMT4  ���.























Answer: ________________________





Round   1    2    3     4      5
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For � EMBED Equation.DSMT4  ��� and � EMBED Equation.DSMT4  ���, one-to-one functions with domains of all real numbers, � EMBED Equation.DSMT4  ��� for


 all real values of � EMBED Equation.DSMT4  ���.  � EMBED Equation.DSMT4  ���.  


Give the value of � EMBED Equation.DSMT4  ���.























Answer: ________________________





Round   1    2    3     4      5
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� EMBED Equation.DSMT4  ���









































Answer: ________________________





Round   1    2    3     4      5
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� EMBED Equation.DSMT4  ���
































Answer: ________________________





Round   1    2    3     4      5
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� EMBED Equation.DSMT4  ���












































Answer: ________________________





Round   1    2    3     4      5
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� EMBED Equation.DSMT4  ���



































Answer: ________________________





Round   1    2    3     4      5
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� EMBED Equation.DSMT4  ���  for � EMBED Equation.DSMT4  ���.









































Answer: ________________________





Round   1    2    3     4      5
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  Find the value of � EMBED Equation.DSMT4  ��� for  the function 


   � EMBED Equation.DSMT4  ��� at � EMBED Equation.DSMT4  ���.



































Answer: ________________________





Round   1    2    3     4      5
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Give the � EMBED Equation.DSMT4  ���coordinate where the line tangent to � EMBED Equation.DSMT4  ��� is parallel to the line � EMBED Equation.DSMT4  ���.



































Answer: ________________________





Round   1    2    3     4      5
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  � EMBED Equation.DSMT4  ���.     


      For the function � EMBED Equation.DSMT4  ��� to be continuous


      and differentiable, give the value of � EMBED Equation.DSMT4  ���.





























Answer: ________________________





Round   1    2    3     4      5
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Find the value of c guaranteed by the conclusion of the Mean Value Theorem for derivatives  over [0, 2] for the function � EMBED Equation.DSMT4  ���.



































Answer: ________________________





Round   1    2    3     4      5
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A particle moves along the x-axis with velocity given by � EMBED Equation.DSMT4  ��� for � EMBED Equation.DSMT4  ���.  What is  the average acceleration of the particle over the time interval [0, 3] ?





























Answer: ________________________





Round   1    2    3     4      5
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 The line tangent to the function � EMBED Equation.DSMT4  ��� at � EMBED Equation.DSMT4  ���  has what slope?
































Answer: ________________________





Round   1    2    3     4      5
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 The circle with equation � EMBED Equation.DSMT4  ��� has a line tangent to the circle at the point P(-3, 4).


 Find the slope of this line at P.
































Answer: ________________________





Round   1    2    3     4      5
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  � EMBED Equation.DSMT4  ��� for some non-zero value


    of � EMBED Equation.DSMT4  ���.  Give that value of � EMBED Equation.DSMT4  ���.
































Answer: ________________________





Round   1    2    3     4      5





#12 CALCULUS – HUSTLE


National � EMBED Equation.DSMT4  ��� 2014





 The line tangent to � EMBED Equation.DSMT4  ��� at � EMBED Equation.DSMT4  ���


  has equation � EMBED Equation.DSMT4  ���. Give the value


   of B.
































Answer: ________________________





Round   1    2    3     4      5
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Evaluate   � EMBED Equation.DSMT4  ���.






































Answer: ________________________





Round   1    2    3     4      5
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Given that � EMBED Equation.DSMT4  ���, find the value of  � EMBED Equation.DSMT4  ���.


























Answer: ________________________





Round   1    2    3     4      5
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Given that � EMBED Equation.DSMT4  ���, find the value of  � EMBED Equation.DSMT4  ���.


























Answer: ________________________





Round   1    2    3     4      5
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Given that � EMBED Equation.DSMT4  ���, find the value of  � EMBED Equation.DSMT4  ���.




















Answer: ________________________





Round   1    2    3     4      5
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Given that � EMBED Equation.DSMT4  ���, find the value of  � EMBED Equation.DSMT4  ���.




















Answer: ________________________





Round   1    2    3     4      5
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Evaluate:   � EMBED Equation.DSMT4  ���   at   � EMBED Equation.DSMT4  ���.
































Answer: ________________________





Round   1    2    3     4      5
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Evaluate:   � EMBED Equation.DSMT4  ���   at   � EMBED Equation.DSMT4  ���.



































Answer: ________________________





Round   1    2    3     4      5
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Evaluate:   � EMBED Equation.DSMT4  ���   at   � EMBED Equation.DSMT4  ���.



































Answer: ________________________





Round   1    2    3     4      5
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Evaluate:   � EMBED Equation.DSMT4  ���   at   � EMBED Equation.DSMT4  ���.
































Answer: ________________________





Round   1    2    3     4      5
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 For � EMBED Equation.DSMT4  ��� and � EMBED Equation.DSMT4  ���, if � EMBED Equation.DSMT4  ��� then give the value of � EMBED Equation.DSMT4  ���.
































Answer: ________________________





Round   1    2    3     4      5
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Find � EMBED Equation.DSMT4  ��� at � EMBED Equation.DSMT4  ���.



































Answer: ________________________





Round   1    2    3     4      5
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Evaluate � EMBED Equation.DSMT4  ���.
































Answer: ________________________





Round   1    2    3     4      5
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 Use the line tangent to � EMBED Equation.DSMT4  ��� at � EMBED Equation.DSMT4  ��� to approximate the value of  � EMBED Equation.DSMT4  ���.






































Answer: ________________________





Round   1    2    3     4      5
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The tangent line to � EMBED Equation.DSMT4  ��� passes through the origin at � EMBED Equation.DSMT4  ���.  Find the value of � EMBED Equation.DSMT4  ���.









































Answer: ________________________





Round   1    2    3     4      5
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 For the relation with equation 


 � EMBED Equation.DSMT4  ���  


 at the point (1, 2), give the value of � EMBED Equation.DSMT4  ���.
































Answer: ________________________





Round   1    2    3     4      5
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Find the area bounded by the graphs of � EMBED Equation.DSMT4  ��� and � EMBED Equation.DSMT4  ��� in quadrant I. 
































Answer: ________________________





Round   1    2    3     4      5
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For a continuous function � EMBED Equation.DSMT4  ���, � EMBED Equation.DSMT4  ��� and � EMBED Equation.DSMT4  ���.   Give the value of � EMBED Equation.DSMT4  ���.




















Answer: ________________________





Round   1    2    3     4      5
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Evaluate:  � EMBED Equation.DSMT4  ���
































Answer: ________________________





Round   1    2    3     4      5
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For � EMBED Equation.DSMT4  ���, over the traditional restricted range of the Arcsine function, give the value of � EMBED Equation.DSMT4  ���.























Answer: ________________________





Round   1    2    3     4      5
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� EMBED Equation.DSMT4  ���  for � EMBED Equation.DSMT4  ���.









































Answer: ________________________





Round   1    2    3     4      5
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� EMBED Equation.DSMT4  ���  for � EMBED Equation.DSMT4  ���.









































Answer: ________________________





Round   1    2    3     4      5
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� EMBED Equation.DSMT4  ���  for � EMBED Equation.DSMT4  ���.









































Answer: ________________________





Round   1    2    3     4      5
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  Find the value of � EMBED Equation.DSMT4  ��� for  the function 


   � EMBED Equation.DSMT4  ��� at � EMBED Equation.DSMT4  ���.



































Answer: ________________________





Round   1    2    3     4      5
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  Find the value of � EMBED Equation.DSMT4  ��� for  the function 


   � EMBED Equation.DSMT4  ��� at � EMBED Equation.DSMT4  ���.



































Answer: ________________________





Round   1    2    3     4      5
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  Find the value of � EMBED Equation.DSMT4  ��� for  the function 


   � EMBED Equation.DSMT4  ��� at � EMBED Equation.DSMT4  ���.



































Answer: ________________________





Round   1    2    3     4      5
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Give the � EMBED Equation.DSMT4  ���coordinate where the line tangent to � EMBED Equation.DSMT4  ��� is parallel to the line � EMBED Equation.DSMT4  ���.



































Answer: ________________________





Round   1    2    3     4      5
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Give the � EMBED Equation.DSMT4  ���coordinate where the line tangent to � EMBED Equation.DSMT4  ��� is parallel to the line � EMBED Equation.DSMT4  ���.



































Answer: ________________________





Round   1    2    3     4      5
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Give the � EMBED Equation.DSMT4  ���coordinate where the line tangent to � EMBED Equation.DSMT4  ��� is parallel to the line � EMBED Equation.DSMT4  ���.



































Answer: ________________________





Round   1    2    3     4      5
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  � EMBED Equation.DSMT4  ���.     


      For the function � EMBED Equation.DSMT4  ��� to be continuous and 


      differentiable, give the value of � EMBED Equation.DSMT4  ���.





























Answer: ________________________





Round   1    2    3     4      5
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  � EMBED Equation.DSMT4  ���.     


      For the function � EMBED Equation.DSMT4  ��� to be continuous and 


      differentiable, give the value of � EMBED Equation.DSMT4  ���.





























Answer: ________________________





Round   1    2    3     4      5
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  � EMBED Equation.DSMT4  ���.     


      For the function � EMBED Equation.DSMT4  ��� to be continuous


      and differentiable, give the value of � EMBED Equation.DSMT4  ���.





























Answer: ________________________





Round   1    2    3     4      5
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Find the value of c guaranteed by the conclusion of the Mean Value Theorem for derivatives  over [0, 2] for the function � EMBED Equation.DSMT4  ���.



































Answer: ________________________





Round   1    2    3     4      5
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Find the value of c guaranteed by the conclusion of the Mean Value Theorem for derivatives  over [0, 2] for the function � EMBED Equation.DSMT4  ���.



































Answer: ________________________





Round   1    2    3     4      5
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Find the value of c guaranteed by the conclusion of the Mean Value Theorem for derivatives  over [0, 2] for the function � EMBED Equation.DSMT4  ���.



































Answer: ________________________





Round   1    2    3     4      5
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A particle moves along the x-axis with velocity given by � EMBED Equation.DSMT4  ��� for � EMBED Equation.DSMT4  ���.  What is  the average acceleration of the particle over the time interval [0, 3] ?





























Answer: ________________________





Round   1    2    3     4      5
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A particle moves along the x-axis with velocity given by � EMBED Equation.DSMT4  ��� for � EMBED Equation.DSMT4  ���.  What is  the average acceleration of the particle over the time interval [0, 3] ?





























Answer: ________________________





Round   1    2    3     4      5
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A particle moves along the x-axis with velocity given by � EMBED Equation.DSMT4  ��� for � EMBED Equation.DSMT4  ���.  What is  the average acceleration of the particle over the time interval [0, 3] ?





























Answer: ________________________





Round   1    2    3     4      5
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 The line tangent to the function � EMBED Equation.DSMT4  ��� at � EMBED Equation.DSMT4  ���  has what slope?
































Answer: ________________________





Round   1    2    3     4      5
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 The line tangent to the function � EMBED Equation.DSMT4  ��� at � EMBED Equation.DSMT4  ���  has what slope?
































Answer: ________________________





Round   1    2    3     4      5
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 The line tangent to the function � EMBED Equation.DSMT4  ��� at � EMBED Equation.DSMT4  ���  has what slope?
































Answer: ________________________





Round   1    2    3     4      5
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 The circle with equation � EMBED Equation.DSMT4  ��� has a line tangent to the circle at the point P(-3, 4).


 Find the slope of this line at P.
































Answer: ________________________





Round   1    2    3     4      5





#10 CALCULUS – HUSTLE


National � EMBED Equation.DSMT4  ��� 2014





 The circle with equation � EMBED Equation.DSMT4  ��� has a line tangent to the circle at the point P(-3, 4).


 Find the slope of this line at P.
































Answer: ________________________





Round   1    2    3     4      5





#10 CALCULUS – HUSTLE


National � EMBED Equation.DSMT4  ��� 2014





 The circle with equation � EMBED Equation.DSMT4  ��� has a line tangent to the circle at the point P(-3, 4).


 Find the slope of this line at P.
































Answer: ________________________





Round   1    2    3     4      5





#11 CALCULUS – HUSTLE


National � EMBED Equation.DSMT4  ��� 2014





  � EMBED Equation.DSMT4  ��� for some non-zero value


    of � EMBED Equation.DSMT4  ���.  Give that value of � EMBED Equation.DSMT4  ���.
































Answer: ________________________





Round   1    2    3     4      5





#11 CALCULUS – HUSTLE


National � EMBED Equation.DSMT4  ��� 2014





  � EMBED Equation.DSMT4  ��� for some non-zero value


    of � EMBED Equation.DSMT4  ���.  Give that value of � EMBED Equation.DSMT4  ���.
































Answer: ________________________





Round   1    2    3     4      5





#11 CALCULUS – HUSTLE


National � EMBED Equation.DSMT4  ��� 2014





  � EMBED Equation.DSMT4  ��� for some non-zero value


    of � EMBED Equation.DSMT4  ���.  Give that value of � EMBED Equation.DSMT4  ���.
































Answer: ________________________





Round   1    2    3     4      5





#12 CALCULUS – HUSTLE


National � EMBED Equation.DSMT4  ��� 2014





 The line tangent to � EMBED Equation.DSMT4  ��� at � EMBED Equation.DSMT4  ���


  has equation � EMBED Equation.DSMT4  ���. Give the value


   of B.
































Answer: ________________________





Round   1    2    3     4      5





#12 CALCULUS – HUSTLE


National � EMBED Equation.DSMT4  ��� 2014





 The line tangent to � EMBED Equation.DSMT4  ��� at � EMBED Equation.DSMT4  ���


  has equation � EMBED Equation.DSMT4  ���. Give the value


   of B.
































Answer: ________________________





Round   1    2    3     4      5





#12 CALCULUS – HUSTLE


National � EMBED Equation.DSMT4  ��� 2014





 The line tangent to � EMBED Equation.DSMT4  ��� at � EMBED Equation.DSMT4  ���


  has equation � EMBED Equation.DSMT4  ���. Give the value


   of B.
































Answer: ________________________





Round   1    2    3     4      5





#13 CALCULUS – HUSTLE


National � EMBED Equation.DSMT4  ��� 2014





Evaluate   � EMBED Equation.DSMT4  ���.






































Answer: ________________________





Round   1    2    3     4      5





#13 CALCULUS – HUSTLE


National � EMBED Equation.DSMT4  ��� 2014





Evaluate   � EMBED Equation.DSMT4  ���.






































Answer: ________________________





Round   1    2    3     4      5





#13 CALCULUS – HUSTLE


National � EMBED Equation.DSMT4  ��� 2014





Evaluate   � EMBED Equation.DSMT4  ���.






































Answer: ________________________





Round   1    2    3     4      5





#16 CALCULUS – HUSTLE


National � EMBED Equation.DSMT4  ��� 2014





 For � EMBED Equation.DSMT4  ��� and � EMBED Equation.DSMT4  ���, if � EMBED Equation.DSMT4  ��� then give the value of � EMBED Equation.DSMT4  ���.
































Answer: ________________________





Round   1    2    3     4      5





#16 CALCULUS – HUSTLE


National � EMBED Equation.DSMT4  ��� 2014





 For � EMBED Equation.DSMT4  ��� and � EMBED Equation.DSMT4  ���, if � EMBED Equation.DSMT4  ��� then give the value of � EMBED Equation.DSMT4  ���.
































Answer: ________________________





Round   1    2    3     4      5





#16 CALCULUS – HUSTLE


National � EMBED Equation.DSMT4  ��� 2014





 For � EMBED Equation.DSMT4  ��� and � EMBED Equation.DSMT4  ���, if � EMBED Equation.DSMT4  ��� then give the value of � EMBED Equation.DSMT4  ���.
































Answer: ________________________





Round   1    2    3     4      5





#17 CALCULUS – HUSTLE


National � EMBED Equation.DSMT4  ��� 2014





Find � EMBED Equation.DSMT4  ��� at � EMBED Equation.DSMT4  ���.



































Answer: ________________________





Round   1    2    3     4      5





#17 CALCULUS – HUSTLE


National � EMBED Equation.DSMT4  ��� 2014





Find � EMBED Equation.DSMT4  ��� at � EMBED Equation.DSMT4  ���.



































Answer: ________________________





Round   1    2    3     4      5





#17 CALCULUS – HUSTLE


National � EMBED Equation.DSMT4  ��� 2014





Find � EMBED Equation.DSMT4  ��� at � EMBED Equation.DSMT4  ���.



































Answer: ________________________





Round   1    2    3     4      5





#18 CALCULUS – HUSTLE


National � EMBED Equation.DSMT4  ��� 2014





Evaluate � EMBED Equation.DSMT4  ���.
































Answer: ________________________





Round   1    2    3     4      5





#18 CALCULUS – HUSTLE


National � EMBED Equation.DSMT4  ��� 2014





Evaluate � EMBED Equation.DSMT4  ���.
































Answer: ________________________





Round   1    2    3     4      5





#18 CALCULUS – HUSTLE


National � EMBED Equation.DSMT4  ��� 2014





Evaluate � EMBED Equation.DSMT4  ���.
































Answer: ________________________





Round   1    2    3     4      5





#19 CALCULUS – HUSTLE


National � EMBED Equation.DSMT4  ��� 2014





 Use the line tangent to � EMBED Equation.DSMT4  ��� at � EMBED Equation.DSMT4  ��� to approximate the value of  � EMBED Equation.DSMT4  ���.






































Answer: ________________________





Round   1    2    3     4     5





#19 CALCULUS – HUSTLE


National � EMBED Equation.DSMT4  ��� 2014





 Use the line tangent to � EMBED Equation.DSMT4  ��� at � EMBED Equation.DSMT4  ��� to approximate the value of  � EMBED Equation.DSMT4  ���.






































Answer: ________________________





Round   1    2    3     4      5





#19 CALCULUS – HUSTLE


National � EMBED Equation.DSMT4  ��� 2014





 Use the line tangent to � EMBED Equation.DSMT4  ��� at � EMBED Equation.DSMT4  ��� to approximate the value of  � EMBED Equation.DSMT4  ���.






































Answer: ________________________





Round   1    2    3     4      5





#20 CALCULUS – HUSTLE


National � EMBED Equation.DSMT4  ��� 2014





The tangent line to � EMBED Equation.DSMT4  ��� passes through the origin at � EMBED Equation.DSMT4  ���.  Find the value of � EMBED Equation.DSMT4  ���.









































Answer: ________________________





Round   1    2    3     4      5





#20 CALCULUS – HUSTLE


National � EMBED Equation.DSMT4  ��� 2014





The tangent line to � EMBED Equation.DSMT4  ��� passes through the origin at � EMBED Equation.DSMT4  ���.  Find the value of � EMBED Equation.DSMT4  ���.









































Answer: ________________________





Round   1    2    3     4      5





#20 CALCULUS – HUSTLE


National � EMBED Equation.DSMT4  ��� 2014





The tangent line to � EMBED Equation.DSMT4  ��� passes through the origin at � EMBED Equation.DSMT4  ���.  Find the value of � EMBED Equation.DSMT4  ���.









































Answer: ________________________





Round   1    2    3     4      5





#21 CALCULUS – HUSTLE


National � EMBED Equation.DSMT4  ��� 2014





 For the relation with equation


 � EMBED Equation.DSMT4  ���  


 at the point (1, 2), give the value of � EMBED Equation.DSMT4  ���.





























Answer: ________________________





Round   1    2    3     4      5





#21 CALCULUS – HUSTLE


National � EMBED Equation.DSMT4  ��� 2014





 For the relation with equation


 � EMBED Equation.DSMT4  ���  


 at the point (1, 2), give the value of � EMBED Equation.DSMT4  ���.



































Answer: ________________________





Round   1    2    3     4      5





#21 CALCULUS – HUSTLE


National � EMBED Equation.DSMT4  ��� 2014





 For the relation with equation


 � EMBED Equation.DSMT4  ���  


 at the point (1, 2), give the value of � EMBED Equation.DSMT4  ���.



































Answer: ________________________





Round   1    2    3     4      5





#22 CALCULUS – HUSTLE


National � EMBED Equation.DSMT4  ��� 2014





Find the area bounded by the graphs of � EMBED Equation.DSMT4  ��� and � EMBED Equation.DSMT4  ��� in quadrant I. 
































Answer: ________________________





Round   1    2    3     4      5





#22 CALCULUS – HUSTLE


National � EMBED Equation.DSMT4  ��� 2014





Find the area bounded by the graphs of � EMBED Equation.DSMT4  ��� and � EMBED Equation.DSMT4  ��� in quadrant I. 
































Answer: ________________________





Round   1    2    3     4      5





#22 CALCULUS – HUSTLE


National � EMBED Equation.DSMT4  ��� 2014





Find the area bounded by the graphs of � EMBED Equation.DSMT4  ��� and � EMBED Equation.DSMT4  ��� in quadrant I. 
































Answer: ________________________





Round   1    2    3     4      5





#23 CALCULUS – HUSTLE


National � EMBED Equation.DSMT4  ��� 2014





For a continuous function � EMBED Equation.DSMT4  ���, � EMBED Equation.DSMT4  ��� and � EMBED Equation.DSMT4  ���.   Give the value of � EMBED Equation.DSMT4  ���.




















Answer: ________________________





Round   1    2    3     4      5





#23 CALCULUS – HUSTLE


National � EMBED Equation.DSMT4  ��� 2014





For a continuous function � EMBED Equation.DSMT4  ���, � EMBED Equation.DSMT4  ��� and � EMBED Equation.DSMT4  ���.   Give the value of � EMBED Equation.DSMT4  ���.




















Answer: ________________________





Round   1    2    3     4      5





#23 CALCULUS – HUSTLE


National � EMBED Equation.DSMT4  ��� 2014





For a continuous function � EMBED Equation.DSMT4  ���, � EMBED Equation.DSMT4  ��� and � EMBED Equation.DSMT4  ���.   Give the value of � EMBED Equation.DSMT4  ���.




















Answer: ________________________





Round   1    2    3     4      5





#24 CALCULUS – HUSTLE


National � EMBED Equation.DSMT4  ��� 2014





Evaluate:  � EMBED Equation.DSMT4  ���
































Answer: ________________________





Round   1    2    3     4      5





#24 CALCULUS – HUSTLE


National � EMBED Equation.DSMT4  ��� 2014





Evaluate:  � EMBED Equation.DSMT4  ���
































Answer: ________________________





Round   1    2    3     4      5





#24 CALCULUS – HUSTLE


National � EMBED Equation.DSMT4  ��� 2014





Evaluate:  � EMBED Equation.DSMT4  ���
































Answer: ________________________





Round   1    2    3     4      5





#25 CALCULUS – HUSTLE


National � EMBED Equation.DSMT4  ��� 2014





For � EMBED Equation.DSMT4  ���, over the traditional restricted range of the Arcsine function, give the value of � EMBED Equation.DSMT4  ���.























Answer: ________________________





Round   1    2    3     4      5





#25 CALCULUS – HUSTLE


National � EMBED Equation.DSMT4  ��� 2014





For � EMBED Equation.DSMT4  ���, over the traditional restricted range of the Arcsine function, give the value of � EMBED Equation.DSMT4  ���.























Answer: ________________________





Round   1    2    3     4      5





#25 CALCULUS – HUSTLE


National � EMBED Equation.DSMT4  ��� 2014





For � EMBED Equation.DSMT4  ���, over the traditional restricted range of the Arcsine function, give the value of � EMBED Equation.DSMT4  ���.























Answer: ________________________





Round   1    2    3     4      5
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